Phuer 117 N #3 Reblons

Che: &: 9 28; & T/ 3
chs: @39 13; &3 "9,

Each case below depicts an object’s velocity vector and ac-

celeration vector at an instant in time. State whether the
object is (i) speeding up, slowing down, or maintaining the
same speed and (ii) turning right, turning left, or moving
in a straight line.
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3. What is the accelerntion due 1O gravity at a dostl

1 Earth radil above Farth's surfaces

( 11 Z‘) A 320-kg satellite experiences a gravitational force of 800 N.
Whatis the radius of the satellite’s orbit? Whatis its altitude?

@‘) A geosynchronous satellite orbits at a distance from Earth’s

center of about 6.6 Earth radii and takes 24 h to go around
once. What distance (in meters) does the satellite travel in
one day? What is its orbital velocity (in m/s)?



